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Ticaret Lisesi 0 0 7 3
Ön Lisans 0 0 3 1
Lisans 97 75 42 53
Yüksek Lisans 1 1 0 1
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Ticaret Lisesi 0 0 5 2
Ön Lisans 0 0 1 0
Lisans 109 91 57 62
Yüksek Lisans 0 0 1 2
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Ticaret Lisesi 0 0 0 1
Ön Lisans 0 0 0 0
Lisans 16 13 2 6
Yüksek Lisans 0 0 0 0
*g/&h. �� �� � �
Ticaret Lisesi 0 0 0 0
Ön Lisans 0 0 0 1
Lisans 17 14 9 5
Yüksek Lisans 0 0 0 0
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Ticaret Lisesi 0 0 0 0
Ön Lisans 0 0 0 0
Lisans 18 22 5 5
Yüksek Lisans 0 0 0 0
.$5$0h56(/ � � � �
Ticaret Lisesi 0 0 0 0
Ön Lisans 0 0 0 0
Lisans 7 3 1 1
Yüksek Lisans 0 0 0 0
.$1',5$ � � � �
Ticaret Lisesi 0 0 0 0
Ön Lisans 0 0 0 0
Lisans 1 1 0 0
Yüksek Lisans 0 0 0 0
TOPLAM 266 220 133 143
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